# Islamic School of Canberra



Year 05 2025

# at www.campion.com.au using "FJCH" as your code by

Friday 13th December 2024

#### PREPACKAGED DELIVERY SERVICE

You will receive your order by Friday, 17 January 2025. Thank you for your order.



# HOW TO OBTAIN YOUR EDUCATIONAL REQUIREMENTS

#### **HOW TO PLACE YOUR ORDER**

The best way to guarantee that you will receive all available items is to order online by the due date.

Please order online at www.campion.com.au

#### **PAYMENT**

#### **ALL ORDERS MUST BE PREPAID**

Payment can be made by:

 Credit Card (VISA and MASTERCARD only) (Credit Cards will be charged on submission of order)

Prices are correct at the time of printing and are subject to change without notice

#### **LATE ORDERS**

Please be aware that while we endeavour to fully supply all orders, we cannot guarantee stock levels for late orders.

- · Where possible, resource list orders will be included in the Prepackaged Service
- Home delivery orders can ONLY be placed at www.campion.com.au (All LATE orders placed online are HOME DELIVERY ONLY)
- Delivery charges are up to a maximum of \$23.95 per resource list
- · Please allow 5-7 working days for delivery
- · Payment is processed as soon as we receive your order
- · We cannot guarantee priority stock for this service
- Delays may be experienced for orders placed at our Retail Service Centre

The best way to guarantee that your student will receive all available items is to order by the due date

#### **REFUND POLICY**

- Refunds are given on **TEXTBOOKS ONLY**, in original condition, up to the 15th of February 2025, or two weeks after the purchase date, whichever is later
- · Exchanges and refunds will be made on any goods deemed faulty from the manufacturer
- · Electronic products (digital) are FIRM SALE and cannot be returned for refund

#### **OFFICE HOURS**

Monday - Friday 9:00am to 5:00pm (Saturday 9.00am to 1.00pm on Jan 18th, 25th and Feb 1st 2025 ONLY). Closed all Public Holidays. Closed from midday(12pm) Monday 23rd December 2024, reopening Thursday 2nd of January 2025.

**INSTNSW** 

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	Year 05					
	AL-QURAN					
	Retain the below text from previous year - New students only:					
P30965	IQRA set of 6 booklets	1		1	22.00	22.00
	ARABIC LANGUAGE					
	Arabic Books will be available through the school					
	ENGLISH AND MATHEMATICS					
P07219	Reading Conventions Book 5 [L O'Brien]	2		1	19.95	19.95
P00404	Spelling Conventions Book 5 2E [H O'Brien]	3	<u></u>	1	18.95	18.95
P34304	Grammar Conventions Book 5 4E (V9.0) [L O'Brien]	4	<u></u>	1	19.95	19.95
P34445	Excel Basic Skills Core English & Mathematics 5	5	<u></u>	1	16.95	16.95
P32486	Targeting Maths AC 5 Student Book (2024 Edition)	6	<u></u>	1	20.95	20.95
P00287	Boy Overboard [Morris Gleitzman]	7	$\overline{\mathbf{Z}}$	1	16.99	16.99
	HANDWRITING					
P11034	Targeting Handwriting NSW Foundation 5 Student Book [Dearborn & King]	8	$\checkmark$	1	18.95	18.95
	ISLAMIC STUDIES					
P30261	Islamic Studies LvI 5: WE Learning Series (Rev) [Mansur Ahmad & Husain Nuri]	9	$\checkmark$	1	31.95	31.95
	STATIONERY					
P54030	Scrapbook 335x245mm 64 Page 90gsm Superhero	10		3	2.40	7.20
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	11	$\overline{\Box}$	12	1.65	19.80
P52107	Graph Book A4 96 page 10mm Grid Squares PP Cover Spirax	12	$\overline{\Box}$	2	2.70	5.40
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	13		1	9.55	9.55
P51532	Pencils-Coloured 24's Noris Club	14	$\overline{\Box}$	2	11.75	23.50
P50642	Handy Pouch A3 with Card Holder	15		2	7.55	15.10
P55517	Eraser Plastic Pencil Large Vinyl - Faber	16		2	0.90	1.80
P55648	Glue Stick 21gm UHU Magic Blue	17		6	4.00	24.00
P50458	Pencil Case 230x150mm Neoprene Blue	18		2	4.50	9.00
P56182	Pencil (2B) Tradition	19		36	0.90	32.40
P56096	Pen Ballpoint Cap Type Red Medium	20		2	0.35	0.70
P55819	Markers Faber Connector Jumbo Wallet 12 Assorted	21		1	14.85	14.85
P51346	Sharpener Pencil 2 Hole Barrel With Cover Staedtler	22		2	9.85	19.70
P56627	Tissues 2 Ply White Facial Box 160	23		5	3.90	19.50
P56414	Ruler 300mm Plastic Clear	24		1	0.75	0.75
P58507	Scissors 155mm Plastic Handle	25		1	2.95	2.95
P51157	Highlighters Pkt 4 Micador ECO	26		1	3.60	3.60
P50279	Marker Bullet Point 1.5mm Black Super Sharpie	27		1	4.65	4.65
P55890	Magazine File PVC Black	28		1	9.77	9.77
P55975	Oil Pastels 16's Standard S16 Box Micador	29		1	5.15	5.15
P55810	Markers Smarttip Texta TX220/10 (Pkt 10 Asstd)	30		1	5.70	5.70
P56092	Pen Ballpoint Cap Type Med Pack of 5 (3Blue/1Black/1Red)	31		1	1.70	1.70

### Please tick the items required in the box provided

(PRICES CORRECT AT 23/10/24)

☑ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked:

Delivery, packaging & handling \$17.95

ESTIMATED AMOUNT DUE

Office Use

Description